1 XAEK - £ No.2-1

RO RERERE T2 S0,

(1) 6m + 1 =55 (2) 4z +5=—11

(3) 4o +3 =1 (4) 9y +6 =87

(5) 9z — 6 =175 (6) 3y — 3= —27

(7) —bx —4=—4z (8) 2n+6=—n

(9) =8z + 15 = =5z (10) —8a +20 = 2a
(11) 92 — 28 = —bx (12) =62 —9 = —Tx
(13) 6y +5 =4y — 3 (14) 6n — 87 = —3n —6
(15) —7n — 88 = 6n + 3 (16) n+5=23n+7

(17) —8x +2 =8z — 178 (18) —bx — 7 =4x — 170



1 XAEK - £ No.2-1

ROFTREAZMRE IS0,

(1) 6m+1=55

m =9

rxr=—1
(5) 92 — 6 =75
xr=9

(7) =Bz —4 = —4z

r = —4

(9) —8x + 15 = —bx

€Xr —=

(11) 9z — 28 = —5z

r =2

(13) 6y +5 =4y —3

y=—4

(15) —Tn — 88 =6n+ 3

n=-—7

(17) =8z +2 =8x — 78

r =25

(2) 445 =—11

r= —4
(4) 9y +6 =87
y=9
(6) 3y —3=—27

= —8

(10) —8a + 20 = 2a

a—=2

(12) =62 —9 = —Tx

r=9

(14) 6n —87=—-3n—6

n=29

(16) n+5=3n+7

n=-—1

(18) —bx — 7 =4x — 70

r=717



1 XAER - £ No.2-2

ROFTREAZMRE IS0,

(1) —9z + 3 = 66 (2) 5z +6=1

(3) a—6=—5 (4) —Ta—6 = —27
(5) Tn—5 = —26 (6) —m —9=—12
(7) 6x+16 =2z (8) —2x —12 =4z
(9) =2+ 9= —bx (10) = +7 =2z
(11) 7Ta + 36 = —2a (12) 8a — 119 = —9a
(13) 5m —8 = —3m + 8 (14) —z+7=2+13
(15) 82 — 67 = —8z — 3 (16) 62 —1 =3z +5

(17) =92 +37= -2z 49 (18) 2y — 2= —2y + 18



1 XAER - £ No.2-2
WD FHFEN AR X 72 X0,

(1) =9z 4 3 = 66

r = =7
(3) a—6=-5
a=1

(5) Tn—5=—26

n=-3

(7) 62+ 16 =2z

r = —4

(9) —2x+9 = -5z

r=—3

(11) 7Ta 436 = —2a

a=—4

(13) 5m — 8 = —3m + 8

m = 2

(15) 8z — 67 = —8x — 3

r—=4

(17) =92 +37= -2z 49

r=4

(2) =bxr+6=1

(8) —2x —12 =4x

r= —2

(10) —bx +7 =2z

x=1

(12) 8a — 119 = —9a

a=17"7T

(14) —x+7=2+13

rxr=—3

(16) 62 —1=3z+5

xr =2

(18) 2y — 2 = —2y + 18

Yy=2>3



1 XAEX - £ No.2-3
WD FHFEN AR X 72 X0,

(1) 6z —5 =49

(3) dx+4=-14

(5) —bx — 3 = 42

(7) —4n +20 = —9n

(9) 2m —8 = —2m

(11) 3z — 16 = T

(13) —z +5 = 5 — 49

(15) £ —33=—6z +9

(17) —8a+43 =a —2

(2) 20— 5= —17

(4) 20 — 8 =—14

(6) —8z — 6= —54

(8) —6n — 27 =3n

(10) —7z + 96 = 9z

(12) —4x — 45 = 5z

(14) 6y —4 =4y + 10

(16) bz +27=3x+9

(18) 2a —1="Ta—11



1 XAEX - £ No.2-3

ROFTREAZMRE IS0,

(1) 62 —5 =49 (2) 220 —5=—17
r =9 r = —6

(3) 9z +4=—14 (4) 20 —8=—14
r = —2 r= -3

(5) —5x — 3 = 42 (6) —8z — 6 = —54

(7) —4n +20 = —9n (8) —6n — 27 =13n
n = —4 n = —3

(9) 2m —8 = —2m (10) =72+ 96 =9z
m = 2 r =06

(11) 3z —16 =Tx (12) —4z — 45 =5z

(13) —x +5 =5z —49 (14) 6y —4 =4y + 10
r =9 y=17

(15) 2 — 33 = —6z+9 (16) 5z +27 =3z +9
r =26 r = -9

(17) —8a+43 =a — 2 (18) 2a — 1 = Ta — 11



1 XAEX - £ No.2-4

WOFRREME RS,
(1) —by+2=2

(3) 6m +6 =—36

(5) bx —6=9

(7) =9z —40 =z

(9) —6x — 72 =2z
(11) —5m = 6m

(13) —4z +1= -5z +1

(17)

2a +4 = 9a + 53

2n+36 = —6n — 4

(2) y—4=3
(4) ba+7=17
(6) 4a+3 =23

(8) 4r + 63 = —3x

(10) —8a — 104 = 5a

(12) —Tn = —8n

(14) -9z —55 = —x + 1

(16) z +2 =3z — 8



1 XAEX - £ No.2-4

ROFTREAZMRE IS0,

(1) =5y +2=2

y=20

(3) 6m +6=—36

m = —7

(5) 5z —6=9

€T —

(7) =9z —40 ==z

r = —4

(9) —6x — 72 =2z

xr=—9

(11) —5m = 6m

m =20

(13) -4z +1=-bz+1

x =0

(15) 2a + 4 = 9a + 53

a=—17

(17) 2n+36 = —6n — 4

n = —5

(4) ba+T7=17

a—=2

(6) 4a + 3 = 23

a—=2>5

(8) 4o + 63 = —3x

r = —9

(10) —8a — 104 = 5a

a= —8

(12) —=Tn = —8n

n=20

(14) =9z — 55 = —z + 1

r=—7

(16) o +2 =3z — 8

r=2>

(18) —3x +12= -8z +2

r = —2



1 XAERX - £ No.2-5

ROFTREAZMRE IS0,

(1) 2z +6 =16 (2) 6a+1=43

(3) 2y+3=-1 (4) —22—3=-9
(5) —-m—-9=-7 (6) br —2 =38

(7) =6z +2 = —bx (8) —3m —6 =3m
(9) —6m — 14 = —4m (10) -8z —6=—Tzx
(11) 92 — 32 =5z (12) Tn — 15 =4n

(13) 20 — 47 = —3z — 7 (14) 8z +2 =5z + 17
(15) —da — 7 = —8z — 43 (16) —3n+5=3n+5

(17) —6m — 88 = 6m + 8 (18) —6a — 36 = —2a — 4



1 XAERX - £ No.2-5

ROFTREAZMRE IS0,

(1) 22 +6 =16

r=2>

(7) —6x +2 = —b5zx

r =2

(9) —6m — 14 = —4m

m = —7

(11) 9z — 32 =5z

r—=2_8

(13) 20 — 47 = -3z -7

r =28

(15) —4x — 7= —8x — 43

xr=—9

(17) —6m — 88 = 6m + 8

m = —8

(2) 6a+1=43

a=17"1T

(4) -2z —-3=-9

x =3

(6) 5z —2 =38

€Tr —

(8) —3m — 6 = 3m

m = —

(10) -8z —6=—Tzx

r = —06

(12) Tn — 15 =4n

n—=2>

(14) 8x + 2 = bz + 17

r=2>

(16) =3n+5=3n+5

n=20

(18) —6a — 36 = —2a — 4

a= —=§8



1 XAEX - £ No.2-6

RO RERERE T2 S0,
(1) —2z+5=13

(3) =8z —1=—65

(5) —8m+7= -1

(7) —n+45 = 4n

(9) 8z +6 =2
(11) 3m+6 = —3m
(13) —8n+5 = —4n+17

(17)

—8r+1=7zx—119

3m—9=—4m — 30

(2) -3z +1=—11

(4) 2a+6 = —6

(6) 22 —4=0

(8) —2x—16 = —4x

(10) 7Tz — 72 = —x

(12) 3z — 15 = 6z

(14) 3z —1=2—-7

(16) 4x — 5 = —4x — 13

(18) —m+9=m—1



1 XAEX - £ No.2-6
WD FHFEN AR X 72 X0,
(1) —2z+5=13

r—= —4

(3) —8z—1=—65

r =28

(5) —8m+7=-1

m =1

(7) —n+ 45 = 4n

n=29
(9) 8z +6 =2z
r=—1

(11) 3m+6 = —3m

m = —1

(13) —8n+5 = —4n+17

n=-—3

(15) =8z +1 =Tz — 119

r—=2_8

(17) 3m — 9 = —4m — 30

m = —3

(2) -3z +1=—11

r—=4

(4) 2a+6 = —6

a= —6
(6) 22 —4=0
€XTr —

(8) —2x—16 = —4x

r—=2_8

(10) 7Tz — 72 = —x

x =9

(12) 3z — 15 = 6z



1 XAEK - £ No.2-7

ROFTREAZMRE IS0,

(1) —6z+9 =27 (2) 62 —9=—21

(3) 8n—2=—42 4) —z+4=—1

(5) Tn+8=—13 (6) 9z +8 = —55

(7) =9z —3 = —8x (8) —3m+8=m

(9) 3a+ 30 = 8a (10) 92 +2 =Tz

(11) 6n —15=n (12) —2n+15=—Tn
(13) —8y — 28 = 2y + 2 (14) 22 — 59 = —9z + 7
(15) 22 — 8 = —5z — 29 (16) 4y — T3 = —6y + 7

(17) 3n— 15 = —3n + 3 (18) 3y — 44 = —3y + 4



1 XAEK - £ No.2-7

RDOFTEAEMRE RSV,

(1) —6z +9 = 27 (2) 62 —9=—21
r=—3 r= —2

(3) 8n —2 = —42 4) —z+4=-1
n = —95 r =295

(5) Tn+8=—13 (6) 9z + 8 = —55
n=-3 r = —

(7) =9z —3 = -8« (8) —3m+8=m
r=—3 m = 2

(9) 3a+ 30 = 8a (10) 92 +2 =Tz
a==~6 r=—1

(11) 6n —15=n (12) —2n+15=—Tn
n=3 n=-—3

(13) —8y —28 =2y + 2 (14) 22 —59 = -9z + 7
y=—3 xr =06

(15) 22 — 8 = —bx — 29 (16) 4y — 73 = —6y + 7
xr = —3 y=238

(17) 3n—15=—3n+3 (18) 3y — 44 = —3y+4

n=3 y=28



1 XAEX - £ No.2-8

RO RERERE T2 S0,

(1) 2z —-1=-5 (2) -2z +4=-12

(3) ba+7 =52 (4) a—5=0

(5) 6a+3 =21 (6) 3x +8 =14

(7) —6n—4 = —-2n (8) 6a + 55 = —5a

(9) 4z — 40 =9z (10) —x = —Tx
(11) m—8=—m (12) 6a+ 112 = —8a
(13) —7Tn— 132 =Tn — 6 (14) 8a — 8 = —9a — 144
(15) 92 + 6 = —4z — 85 (16) da+6 = —a + 21

(17) 6m —3=2m+9 (18) -8z + 14 = -3z —1



1 XAEX - £ No.2-8

RO RERERE T2 S0,
(1) 2z —-1=-5

r =2

(3) b+ 7 =52

x =9

(5) 6a+3 =21

a—=3

(7) —6n—4=—2n

n=—1

(9) 4z — 40 = 9z

r = —8

(11) m—8=—m

m =4

(13) —Tn—132=Tn —6

n=-—9

(15) 92 + 6 = —4z — 85

r = =T

(17) 6m —3 =2m +9

m =3

(2) —2x44=—12

r =28

(4) a—5=0

a—=>5

(6) 3x +8 =14

xr =2

(8) 6a + 55 = —ba

a= —>5
(10) —z = —Tx
x =0

(18) 8z + 14 = -3z — 1

x =3



1 XAEX - £ No.2-9

ROFTREAZMRE IS0,

(1) bn—2 = 28 2) 2y—1=3

(3) 8y+4=4 (4) —y—6=-9

(5) —8z +3 = —69 (6) 3z +3=—18

(7) 2y — 22 = —9y (8) 2z +2 =4z

(9) In + 18 =6n (10) —=9n+ 75 =61

(11) 4z +15="Tx (12) bz — 36 = —=x

(13) —5m — 28 = 8m — 2 (14) 7z +5="52+5
(15) =6z —9 = —x —H4 (16) —4m + 3 = 6m + 63

(17) —6a +26 = —2a — 6 (18) —2y+5=y—16



1 XAEX - £ No.2-9

ROFTREAZMRE IS0,

(1) 50— 2 =28 2) 2y —1=3
n==6 Yy =2

(3) 8y+4=4 (4) —y—6=—9
y=20 y=3

(5) —8z +3 = —69 (6) 3z +3=—18
T = r = =T

(7) 2y —22 = -9y (8) 2z + 2 =4x

(9) In + 18 =6n (10) —=9n+ 75 =61

(11) 4z +15="Tx (12) bz — 36 = —=x
r =25 r =26

(13) —bm — 28 =8m — 2 (14) Tx +5=5x+5
m = —2 x =0

(15) =6z —9 = —x —H4 (16) —4m + 3 = 6m + 63
r =9 m = —6

(17) —6a +26 = —2a — 6 (18) —2y+5=y—16

a =8 y=717



1 XAEX - £ No.2-10

ROFTREAZMRE IS0,

(1) =Tz +2=-12 (2) —Ta+9=-54

(3) 2y+5=13 (4) 8z — 4 = 36

(5) Tm+1=—48 (6) 9m — 8 = —44

(7) bx + 65 = -8z (8) —8m+72=m

(9) —9m+9=—-8m (10) —bx — 30 = bz

(11) 52 — 36 = 9 (12) 3z +1 =4z

(13) 6n+4="Tn+2 (14) 9a — 25 =5a + 7
(15) x —64 = -9z +6 (16) —Tx +5=—bx+9

(17) =62 — 17 =Tz — 4 (18) bz + 7 =2z — 17



1 XAEX - £ No.2-10

ROFTREAZMRE IS0,

(1) —Tz+2=—12

r =2
(3) 2y +5=13
y=4

(5) Tm+1 = —48

m = —7

(7) bz + 65 = —8

r = —5

(9) —9m+9=-8m

m =9

(11) 5z — 36 = 9

(15)  —64 = -9 +6

rxr=1"17

(17) =62 — 17 =Tz — 4

rx=—1

(2) —7a+9=—54

a=29
(4) 8 —4 =36
r=2>

(6) 9m — 8 = —44

m = —4

(8) —8m+T72=m

m =28

(10) —bx — 30 = bz

(14) 9a — 25 =ba+ 7

a—=3~§

(16) —Tx +5=—bx+9

r=—2

(18) ba +7 =2z — 17

r = —8



